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1 18. 2%0. 08 = 1.5 1 m3
B 1. 46 1.5 1 m3
X SR AsBERS 165. 650, 04 = 6.6 7 m3
R E CONBERF 12. 8%0. 100= 1.3 1 m3
Wy T AS 6. 6%2. 36= 15. 5 16 t
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R R E SBR[ - BrEaE L D 18. 2 18 m2
S5 T 0. 3%30%0. 995/1000 = 0.02 [ 0.02 t
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2.40
1 3.8 2.40 2.40 9.1 9.1 9.1
2.20
2 11.6 1.80 2.00 23.2 23.2 23.2
1.80
3 3.6 1.90 1.85 6.7 6.7 6.7
1.90
4 5.40 2.10 2.00 10.8 10.8 10.8
2.10
5 10.00 2.40 2.25 22.5 22.5 22.5
2.40
6 5.50 1.90 2.15 11.8 11.8 11.8
1.90
7 9.50 2.50 2.20 20.9 20.9 20.9
2.50
8 13.30 2.40 2.45 32.6 32.6 32.6
2.20
9 9.30 2.10 2.15 20.0 20.0 20.0
(e 157.6 157.6
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FKET [HABREA20F t=>5cm 157.60
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AL T 157.6 157.60
Hdi 158.0 158.0
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1 2.50 2.60 0.70 2.90 0.9 0.9 0.9
2 2.60 1.90 0.90 2.70 0.6 0.6 0.6
1.90
3 5.2 1.60 1.75 9.1 9.1 9.1
1.60
4 3.1 1.60 1.60 5.0 5.0 5.0
4.30
5 0.6 4.30 4.30 2.6 2.6 2.6
At 18.2 18.2
P BR m fE B H
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KB T AEBBEAS20F t=15cm 18.20
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i 2 T A 18.20 18.20
it | 180 18.0




